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| {C} wamnfmnﬁnaﬂspacm
(D) fear of water

2. Fill in the blank with the suitable option:
She __ from the bus and walked to
the back-gate. '
(A) boarded
(B) stepped
(€) moved
(D) alighted

3. To feel *under the weather’ meins
' {A'i]' teel depressed
(B) feel uncomfortable
(C) feel unwell
(D) feel uncertain

4. The word vicissitude means:
‘ ")'é]f""' :
{B} mgnnnun

The_ ship. w:ﬂl its. ﬂmw
[A] were
(B) was
(C) were getting
(D) was being
9. A place where bees are kept —
(A) Aviary
(B) Abattoir
(C) Granary
(D) Apiary

10. Select the correct spelling:
(A) Accommodition
(B) Accommodation
(C) Accomodation
(D) Acmnmndauﬁn

11. Add a suitable pmﬁx to form thy -..,-.,
of the word ’ﬂapﬂblu :

tAI Uﬁﬂapab]e



14. The idiomatic eXpression, once in a blue
MOOT, means

(A) rarely
(B) frequently
(C) regularly
(D) never

15. The antonym of the word weird is
(A) Normal
(B) Casual
(C) Tired
(D) Worried

16. Converi the given sentence into an
mierrogative sentence:
[ will meet you tomorrow.
(A) Where will you meet me?
(B) How will you meet me?
(C) Will you meet me?
(D) When will you meet me?

17. Fill in with a suitable preposition:
He is taller than you
(A) with
(B) of
(C) in
| (D), by

__iwo inches.

: 18. The antonym of the word superficial is
(A) DMP
(B) Artificial

(©) Wﬂl
©) True

Replace tmmlmmmmmi
word.

(A} Noiselessness
(B) Calmness
(C) Isolation
(D) Seclusion

21. Choose the right option:
While | inthe library, someone
threw a ball through the window.
(A) was sitting
(B} was seated
(C) had been sitting
(D) am sitting

22. Which is the correct sentence?

(A) Anone-eyedperson was seen roaming
about the streets,

(B) A one-eyed person was seen roaming
about the streets.

(C) Theoneeyed person was seen roamin g
about the sireets.

(D) One-eyed person was seen roaming
about the streets,

23. "La Gioconda’ (Mona Lisa) is
unique work of art.
Fill in the blunk with the suitable article,
(A) the
{B) an
[(C) a
(D) this

24. Fill in the blank with the - right opuw
He was offended
(A) at
(B) for
(€) with




26. The following state is the highest producer
of tin in India :

(A) Rajasthan
(B) Odisha

(C) Jharkhand
(D) Chhattisgarh

27. Sandhyakar Nandi was the court poet of the
{A) Mauryas
(B} Senas
(C) Hussain Shahis
(D) Palas

28. Which Sultan was not a slave before he
ascended the throne?

(A) Qutub-ud-din Aibak
(B) Twimish

(C) Alauddin Khilji

(D) Balban

29. TheChief Justice of High Courtis appointed
by the :

~ {A) Prime Minister
(C) Chief Justice of the Supreme Court

.__‘ )
L
)
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(C) Hress
(D) =i

27, i AW Gl ATEATAE ASIEE e
(A) G A&
(B) ¥l AMErge
(C) S ArEa
(D) < e

28, (i HETEW
(A) FEasind witas
(B) Zegefi
(C) = e
(D) #==a

B WITEIES a1E s wH

29. 2GR 24 Folaefe fge o
(A) =g B
(B) #Bsifen e
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‘31. Ratioofthe rms speedand the most probable
speed for molecules in an ideal gas is

(A) ¥3:1

(B) 1:43

(C) v3:%2

(D) V2:43

32. The Valleyof Kashmiris located in between
the following ranges :

{A) Zaskar and Pir Panjal
(B) Zaskar and Karakoram
(C) Karakoram and Shiwalik
(D) Zaskar and Shiwalik

33. The velocity ratio of the hour hand and
minute hand of a clock is

(A) 1:12
(B) 12:1
(C) 24: 1
(D) 1:24

3. Theleaderofthe Narmada Bachao Andolon
is

(A) Anna Hajare
(B) Medha Patker
(C) Ramdey

(D) Binayak Sen

35, Which was the first incident of a British
nﬁdﬂ‘ﬂummaﬁnn nﬁt;ﬂw ruvﬂltuf 18577

probable (7@ TAE T
(A) ¥a:1 ) ¥i
(B) 1:43 -
(C) ¥3:\2 |
(D) V2:43

32. T ToT s sl
wafEs & I
(A) BIFR € AgaE
(B) BTH[E € IEATHTE
(C) @ & M
(D) efEE ¢ Faims

33, WGt W $61 € FHGs FHH A
AT 2
(A) 1:12
(B) 12:1
() 2411
(D) 1524

(A) =ITH] TfEms
(B) et “ifbre
(C) wrAE

(D) famm=s &9

. 1857-97 i Eﬁﬁ m
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36. Vikramsila Bihara was founded by
(A) Devapala
{B) Dharmapala
(C) Rampala
(D) Susanka

A7, Who said,"An eye for an eve will make the
whuole world blind™?
(A) Martin Luther King
(B) M. K., Gandhi
(C) Nelson Mandela
(D) Karl Marx

38. Siachen glacier is located in the following
range :
(A) Karakoram
(B) Zaskar
(C) Pir Panjal
(D) Shiwalik

3. The Nobel Prize in Literature 2020 was
awarded 1o
(A} Louise Glick
(B} John Dranow
(C) Peter Handke
(D) Peter Ackroyd

40. Which Bengal poet composed the song
‘Ban eshechhe mora gange’ during the Partition of
Bengal?
(A} Rabindranath Tagore
(B) Lalan Fakir
(C) Kazi Nazrul Tslam
(D) Mukunda Das

36. FaRial g o6 o TR
(A) (=A
(B) el
(C) AT
(D) =&

37. (= ArEEe, HIRE qCR O51 i e offRE) )
% o AN 7
(A) wie e =5
(B) <. G S
(C) e e
(D) == I

38, Fransa e Felie sdenfine wafe &
(A) SrTFES
(B) ==

(C) A==iiare
(D) ferarfers

39, 2020 =w Fifawey @nEs A5 e =3
e T g
(A) Louise Gliick
(B) John Drancw
(€} Peter Handke
(D) Peter Ackroyd

40, =rETE T i refE @+ am aone
W AE” it 2o B

(A) wdimsTie ape
(B) 5w e

(C) =& T T
(D) 5= W



(A) Classes X to X
(B) Classes X to XI
(C) Classes X1 to XI1
(D) Classes IX to XII

42, Which animal was part of the symbol of
Netaji's INA Flag?
(A) Lion
(B) Elephant
(C) Tiger
(D) Rhino

43. Pure silicon at () K is
(A) semiconductor
(B) metal
(C) insulator
(D) superconductor

44. Which is the Direct Tax in India?
(A) VAT

(B) GST
(C) Wealth Tax
(D) Excise Duty

42, OSSR % GRS I (PR AN
offegTs fem?
(A) Pz
(B) =
(C) ==
(D) shafe

43, 0K @ ﬁmwﬁﬁmm-
(A) sE=AfE

(B) ¥
(C) =res=

(D) feEa®

(A) VAT
(B) feran®
(C)
(D) o%TT
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46. Badland topography is an important
characteristic of the following region :

(A) Gulf of Kutch
{B) ‘Sundarban Delta
{C) Konkan Coast
(D) Chambal Valley

47. What was the *Eka Movement'?
(A) A Religious movement
(B} A Peasant movement
(C) A Secret revolutionary movement
(D) None of the above

48. Which among the following novels of
Sarat Chandra vividly rellected the revolutionary
movement of India?

(A) Snkanta

(B) Pather Dahi

(C} Palli Samaj

(D} None of the above

49. The power of a lens is +2:0D. The focal
length of the lens and its nature are

(A) 50 cm, concave
(B) 50 cm, convex
(C) 100 em, convex
(D) 100 cm, concave

50. The spectrum of color in Compact Disc
(CD) is due to

(A) Refraction
(B) Reflection
(C) Diffraction
(D) Polarization

C-8

46. g Frfis wOTE 430 SR
TafEr 3
(A) g BoEIR

(B) Fweaaa 9-ai7

(C) (B TATA

(D) wFe ToAERH

47. ‘om wwEn F e
(A) =7 43 T
(B) b FAF HTia™
(C) w=fb csiele e S
(D) Soicaa iEhe =1

48. =qepima W LA SiEoed G
HICHEA 1% 2iewrae o vy P e
(A) Sl
(B) #ir=a wat
(C) =&
(D) BATTE =ahe g

49. 9=l = HUEl +2-0D ) @Gt T
] % oEfe
(A) 30 ¢m, ST
(B) 50 cm, Bam
(C) 100 cm, T&s
(D) 100 ¢m, S9es

50. w2 % (CD)-ce @ 318 oy a1y wim
T

(A) =fewad
(B) =fEwpem
(C) W=aEs (gr=de)

(D) Fda




52. Although the final match between England
and New Zealand was a tie, England won the 2019
1CC World CUP. The reason was .

(A) England was the host nation.

(B) EnglandwonSuper Overby boundaries.
(C) England won by toss.

(D) New Zeuland lost for match-fixing.

53. According to WHO. the official name of the
virus responsible for Covid-19 discase is

(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) Corona Virus

- 54. The boundary line of Sundarban was
demarcated by
(A) Em‘mlmn Saheb

@ ﬁw-’r Feee e
3o fuT o, wE
(A) WWW 1
(B) F# SEH-a eI Exeure @R IE |
(C) ZteTi% i (ame | |
(D) ﬁMwﬁﬁr

53. WHO-s% e Covid-19 QAR B WEl
sizamfbe wfEkmE 7@ =
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) TR SRam

WWWW
(A) e AE

(B) oo TR B

© %
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56. Who wrote Amuktamalyada?
(A) Rajaraja Chola
(B) Harshavardhana
{C) Deva Raya
(D) Krishnadeva Raya

S7. Who is the present Chief Election
Commissioner of India (as of June, 2021)7

{A) Anil Chauhan
(B) Sushil Chandra
(C) Sunil Chandra
(D) Anil Malbhotra

58. Under which amendment of the Indian
Constitution the voting age reduced to 18 from 217
(A 60th
(B) 62nd
(C) 6lst
(D) 63rd

59. Article 18 of the Indian Constitution
guarantees the right o

(A) Equality

(B) Freedom

() Freedom of Religion

(D) Right o Constitutional Remedies

60. Who has been named the captain of the
Indian Men’s Hockey Team for the Tokyo
Olympics?

(A) Manpreet Singh
(B) Harmanpreet Singh
(C) PR Sreejesh
(D) Birendra Lakra

56, TEEHAG-T TS (F1
(A) ArEATE (5T
(B) =H4H
(C) O3 a1

(D) RS T

57, June, 2021 R SrTEH T5 320 fRie
fipe (e
(A) =l BTEe
(B) 7915 b
(C) T b
(D) =faE e

58, ©Eem AU e ATEa 5= (SIhE
% 21 (o e 18 = 23 Y
(A) 60 =T
(B) 62 %4
(C) 61 =9
() 6339

59. AT |8 AL WHrER HE e I —
(A) A1
(B) AHTel
(C) #5m HiEwe!
(D) =H=rstiEs affefame afte

60, Wmﬁﬁﬁﬂmgﬁﬂwn@ﬁ
e Wi RE 1 AW R ware

(A) wwEhs f

(B) =maware G
(C) . =, Sree
(D) Siran wpe!



61. Family Income Ceiling for
‘Scheme is not applicable if

(A) the girl is physically challenged.
(B) the girl is an inmate of 1J Home.
(C) the girl has lost both parents.
(D) All of the above

62. Money Bill is finally determined by
(A) Prime Minister
(B) Speaker
(C) Leader of the opposition party
(D) President

63. Khajuraho,‘the City of the Gods® a
UNESCO World Heritage Site, the name of which
wats first referred in the 1 Ith century CE by

(A) Ibn Battuta

(B) Ibn Sing

(') Abu Rihian Alberuni
(D) Omar Khayyam

64. Bengal Revolutionaries were lurgely
mspmzd by which Revolutionary movements of
Great Britain?
(A) Scottish
(B) Irish
(C) Welsh
m Hmnfﬂn:bmrn

(C) Tarad w=iwel
(D) FBAE

63. Tims w7 <z UNESCO Fige @
(A) TZ% T5E
(B) 28 FA0 N
() urg A HEEA
(D) ‘G L2




{ﬁJ 5 crores to 75 crores rupees

(B) less than 5 crores rupees

(C) Berween 75 to 150 crores rupees
(D) Between 150 to 200 crores rupees

67, Who was the Mughal emperor during the
Revolt of 18577

(A) Aurangzeb

(B) Mir Qasim

(C) Bahadur Shah I
(D) Sarfaraz Khan

68. The Sundarban is declared as ‘Ramsar site’
in
tA) 1987
(B) 1972
(C) 2018
(D) 2019

69. Who is the custodian of the Indian
Eamntuuon?

(A) President
fm ?:&ﬁwﬁem
.:ﬁ)’

66. "% S A QAR den
(A) smﬂm?ﬁﬂﬁ. N
(B) 5 If} 5 A
(C) 75 ez 150 i B
(D) 150 (= 200 15 5

67, 1857-9% Fregs 7n WWW
(A) TnezmTER
(B) firs =i
(C) fasia arras #nz
(D) Aawae <

(A) 1987 fabms
(B) 1972 fis5its
(C) 2018 &5
(D) 2019 0w

69. stads i R (custodian) (®
(A) 31Beife
(B) @ﬂ*ﬂﬂﬁ
fC) W



71. Which part of the world was the agenda of
Khilafat movement involved with?
{AJ India
'[B] Arab
(C) Iran
(D) Turkey

72. ‘Letters from Burma’ is a book of essays
penned by
(A) Aung San Suu Kyi
(B) Rashbehari Bose
(C) Sarat Chandra Chattopadhyay
(D) Subhas Chandra Bose

73. In terms of thermal conductivity (k) and
glectrical conductivity (6), diamond has
(A) low kand high &
(B) high k and low &
(C) high &k and high &
[Iﬁ.] low k and low &

74, When was the University of Calcutta
‘established?
(A) 1911
(B) 1817
(©) 1854
(D) 1857

C13

e s e e e

71, REArTe SIS o

(A) =TS
(B) =iz
(C) ==
(D) &H

72. ‘Letters from Burma® <=0 M’T‘iﬁﬁ
BineT
(A) oG 714 A b
(B) =apifzar 99
(C) *ACHE Ll
(D) TefEnst 99

73, wdm Rt (k) e ofee el
(8)-7 AATF 9 (diamond) 2E
(A) FEke®® b
(B) ©% ke Hd
(C) B ke TH B
(D) i k 99z s &

74, T Frefmen @ e 2o @
(A) 1911
(B) 1817
(C) 1854
(D) 1857
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76. The highest peak of the Eastern Ghats is
(A) Mahendragiri
(B) Nilgiri
(C) Jindhagada
(D) Anaimudi

T7. NRC 15 now in form of a
(A) Draft
(B) Bill
(C) Act

(D} None of the above (D) Betad @AGE T

. ‘Chipko Andolon” 1s Known as 78. ‘i wisEe i S
(A) Feminist Movement (A) THTRE =
{B) Tribal Movement (B) Bera Bty
Malitical Moveme -
() Political Movement (C) TR
(D) Caste Movement T
(D) ETEEE SwHER

79, Which Medieval ruler introduced Ain-i- 79. @R ST s wiE Bl .T:,:'I.'.'
Dahsala? wEA Y O
{A) Balban
(B) Feroz Tughlaq
(C) Sher Shah
(D) Akbar SR
(D). ==

(A) ¥
(B) Fare g




H:l_. Which revolutionary feader m
petitions” from jail?

(A) V. D. Savarkar

(B) B. G. Tilak

(C) Sukhdey Thapar

(I}) Chandra Shekhar Azad

o | ' '
82. Who propagated the ‘satety valve theory!
and about which organization? _

(A) A. O. Hume. about Indian National
Congress

(B) Lord Dufferin
Association

() Charles Tegar
Association

about Indian

for Zamindari

(D) Lord Macaulay for British-India
League

83. The Asiad Gold Medalist Boxer passed
away recently at the age of 42, Who is he/she?
(A) Pooja Rani
(B) Dingko Singh
(C) Amit Phangal
(D) Shivaa Thapa

84. Khutba was
(A) asermon read in the name of the ruler

at Friday prayers.
(B) aroyal order.
(C) areligious decree.
(D) atax.

85, The largest glacier of India is
(A) Pindari
(B) Gangotri
({C) Siachen
(D) Hispar

C-15

MTS/21
BL. (W R2¥ me @ cu pnS g S
S ?
(A) f& f& Hrefae
(B) . f&r. femm
(C) =FomT e
(D) SHET=I<e Sy

B2, o i 2w ool ol srR ey 25
L o
(A) & e e, S odn s s
(B) #& Sl oraw wot Ao
(C) wieH (Beifl, Sfawat 7ok
(D) #& s, fafbe-3fem Hof i

83. SR o wmesly TwE Arefes
42 ¥4 IR A WAL | B ARy
(A) <] A
(B) fEssia fAs
(C) shws =rem
(D) forat et

84, e =Y 25
(A) STAFT LUATE 799 A [ ADS
o0 |
(B} AR I |
(C) i S |
(D) <= =7 |

85, wraTen FegEe R T
(A) e
(B) stoordt
(C) =
(D) e




86, Mica producing district of West Bengal is
(A) Bankura
(B) Paschim Bardhaman
(C) Birbhum
(D) Purulia

87. Who wrote Ramcharitmanas?
(A) Harisena
{B) Harshavardhana
(C) Tulsidas
(D) Joydev

88. A battery consists of 10 cells, each of emf
1V.1£ 2 cells are wrongly connected, the emf of the

battery becomes
(A) 8V
(B) 10V
(C) 6V
(D) 12V

Pt

89, The following river divides West Bengal

C-16

88. ==l wibiEre 106 @ we 79 4feta
W%ﬂmﬁasﬂﬁﬁw}ﬂﬁzﬁmwm
I, SiEr= A1 Slss 36 1

(A) 8V
(B) 10V
(C) 6V
(D) 12v

89, fiwfafe =65 -
: ARG & BRI vje
(A) TR

©) o=



QL Who wrote the drama Neeldarpan?
(A) Harishchandra Mukherjee
(B) Girishchandra Ghosh

(€) Dwijendralal Roy

(D) Dinabandhu Mitra

Antarctica is called
(A) Privadarshini
(B) Bharat
(C) Maitri
(D) Dakshin Gangotri

93, Hydraulic press is based on
(A) Archimedes law
(B) Pascal’s law
(C) Reynold's Jaw
(D} Bernouli’s law

94, Aperscrn on a swing stands up, The time
‘period of the swing.
(A) increases

92. The new station constructed and established
by India in March, 2012 for scientific research in

93, afRgf (apw PR ez
(A) wiFMHTHE 5
(B) #r=eTe &
(C) camies 748
(D) Ao v




g

96. The largest IT company in India is (as of
June, 2021)
(A) Wipro
(B) HCL Technology
(C) TCS
(D) Tech Mahindra

97. The confluence of Bhagirathi and
Alakananda is located at

(A) Rudraprayag
{B) Devprayag
(C) Haridwar
(D) Allahabad

98. Which Muslim general conquered Bengal
in the thirteenth century?
(A) Timuar
(B) Igtiaruddin Bin Baktiar Khilji
{C) Chenges Khan
(D) Abdur Rahim Khan i Khanoan

99. The Subaltern School of historiography
was spearheaded by
(A) Shahid Amin
{B) Ranajit Guha
(C) Partha Chatterjee
(D) Goutam Bhadra

C-18

96. ==, 2021 e
£
(A) Wipto
(B) HCL Technology
(C) TCS
(D) Tech Mahindra

97, ©iNed & WEEHE FLATEE AES :
(A) FEHaTs-4 .
(B) (FAHI-4 ;
(€) ez« "
(D) GErEav-« .

08, (I A (FAH S A0 200 A BT
HE ¢
(A) To93
(B) Ifeawim &a afeae el
(C) ofore <l

(D) wiana afEw 4w % <@

99, & firwasfa Sesmsr e wams
(A) #=fEr wfiw
(B) #wfee oz
(C) = BrGnE
(D) cffres =w




101. Who was the Chief Guest
Day. 221 in India?
(A) President of St Lanky
(B) PM of Bangladesh
(€) King of Bhutan
(D) MNone of them

of Republic

102. To which following movement is the term
‘glgulan” associated with?

{A) Munda uprising

{B) Santal uprising

(C) Kol uprising

(D) Gurkha uprising

103, Gandhiji was influenced by
{A) Tolstoy
(B) Dickens
(C) Marx
(D) Lincon

104, Inter-stute council is formed by the
{A) Prime Minister

(B) Parliament
{C) Chief Justice of India

C-19

101. 2021513 ‘wranea seey e |
(A) Eferar A
(B) et el
(C) hTE=Fa e
(D) Beiras @Fes 7w

102, EHul w0 FeFkEE @F S
HIH EHLE D

(A) TSl Brgils

(B) Feem were

(C) =l SgEm

(D) cosl g

103. sif&lE =aefas snfEes
(A) bFFod T4
(B) Toram =
(C) =gt wra

(D) = =

104. Se-215] #IfF9w sifve
(A) g ar
(B) AfimrG-a7 ==
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106, The variability of rainfall during Augustin
India would be more pronounced generally at

(A) Kolkata
(B) Ranchi

{C) Jodhpur
(D} Lucknow

107. The following coastal area of India was
affected by ‘Hudhud Cyclone” :

(A) Chenna coast

(B) Kerala coast

(C) Andhra coast

(D) Bengal coast

108, The Election Commission is eonstructed
by the

{A) Vice-President

(B) Prime Minister

(C) President

(D) Chief Justice of India

109. Dry ice means.
(A) Tee ar-23°C

(B) Ieeat4°C

(C) Solid SO,

(D) Solid CO,

107, sres FaEie SAgAy Al OmT
RO B o B !
(A) (BTE TAgH
(B) ) SogE
(C) =% TigH
(D) T% BATA

108, frse afe siom FEe
(A) Toamafe
(B) SGTeIg)
(C) =i
(D) SFEneE 24 FeEefe

109, w2 93¢ 5
(A) ~23°C Tawors T
(B) 4°C Tasers e
(©) ¥4 S0,
(D) = co,




(A) itis cunvenimt o use,
(B) it reduces cost

(C) it cools the remainin

o £ space by the

€58 of conduction.
(D) conveetion currents are set up

llll. In West Bengal, Export Processing Zone
(EPZ) has started functioning at

(A) Raichak
(B) Falta
(C) Kakdwip
(D) Haldia

113. The responsibility for printing currency
notes in India lies in the hand of
(A) Ministry of Finance
(B) Prime Minister's office
(C) Reserve Bank of India
(D) State Bank of India

114. Who was the Governor General of India
when Gandhiji initiated Civil Disobedience
Movement?

(A) Lord Hardinge
(B) Lord Minto
(C) Lord Linlithgow
(D) Lord Irwin

-

115, is
e

1. ErsmEtes e

A) E TR

(B) 3= 72w oy

(C) sifeerms Sy 2 vt Tredmas
T4 73 |

(D) =ifdsem 7 tsf2 29

112. «f*6%T% ‘Export Processing Zone®
(EPZ)-aq Frfrafera smsire =75

(A) B

(B) T=ram

(C) T

(D) z=fwaE

113. SHE7S biFte (16 2i#mie 7iEY =i
(A) BehEr-ag
(B) #le=d wiFm-a9
(C) =i anrs—as
(D) GO Affis-ax

114, 1o e 8 - S e 15 7 e
(eiae T ¢
(A) =& Tt
(B) 71& fart
(C) =76 FEmimearst




(B) 1911
(C) 1901
(D) 1947

117. Membersofthe Public Accounts Committee
are elected by

(A) President

(B) Speaker

(C) The members of the both Houses of
Parliament through the method of
proportional representation by single
transferable vote.

(D) Prime Minister

118. Which Indian Nationalist Leader is known
‘88 ‘Grand Old Man of India’?
(A) Badruddin Tyabyji
(B) Surendranath Banerjee
(€} Gopal Krishng Gokhale
(D) Dadabhai Naoroji

116. (@ A T7EH WA L

(A) 1905
(B) 1911
(C) 1901
(D) 1947

(A) TaefEs g

(B) -7

1HiTH |

=

(C) AT SSAFCRT AR G }
ATl e afeffig Aufor

(D) 24ETda wial

L18. ¥ Srael siduerRm e TS 678

=Tl S fem’ a5 oy

(A) THaEe tenag!
(B) Trzamy ardt
(C) (om=tt=rgmas coitaiee
(D) wiateiz iad)

119. ®re sk
g oo 2 ¢




‘on water are
(A) transverse
(B) longitudinal
(C) longitudinal and transverse
(D) stationary

122, Pakistan Resolution was taken on
(A) 16th August 1946
(B) 26th January 1935
(C) 14th April 1942
(D) 23rd March 1940

123. What was the original name of Titumit?
(A) Syed Amanullah Khan
(B) Syed Mir Nasar Al
(C) Syed Amir Ali
{ (D) Syed Mir Muhammad Khan

124. New Delhi, the new Capital of India was
inaugurated by Lord Irwin in the year

(A) 1905

fBJ 1911

(ﬁ;;; 1931

121, The waves produced by motor boat sailing

122. frsfafie com wifed e 1
(resolution) (&3 Zrafes ¢
(A) 1631555 1946
(B) 266 GHERST 1935 N
(C) 14% «fzm 1942
(D) 233 =6 1940

123, Srg¥itag s W § e
(A) T SR <
(B) 77w e iema we
(C) Corm =g ==
(D) T 7 Wz uw

A i

(A) 1905 7=
(C) 1931 HiA



126, Sharavati Hydroelectric Project is located
in:

(A) Kerala

(B) Karnataka

(C) Maharasira

(D) Madhya Pradesh

127. Who among the following cricketers won
the Rajiv Gandhi Khel Ratna award, 20207
(A) Virat Kohli
(B) Sikhar Dhawan
(C) Suresh Rama
(D) Rohit Sharma

128. is called as “*His Superfluous
Highness".

{A) The President

(B) Vice-President

(€C) Governor

(D) Speaker

127. 2020 iTE TS AR (FEY FTIE AR

irsE (e ferrbE

128.

(A) Tl
(B) =2 yrewe
(C) At Al
(D) EifEs =

O R OB G B

(A) g
(B) Tormm@ARcE
(C) =S
(D) ~A=EE




131. According to the Census
one of the followin

the highest sex ratio?
(A) Chandigarh
(B) Puducherr}r
(C) Lakshadweep
(D) Daman and Diu

of India 2011,
£ Union Territories had

132. Which commodity tops the current list of
imported commaodity of India?

(A) Gold

(B) Platinum

(C) Petrolium products
(D) Petrolium crudes

133. Whatisthe maximum Government Subsidy
that can be availed by a beneficiary under the
| Gatidhara Scheme?
| (A) Rs. 50,000
(B) Rs. 100,000
(C) Rs. 2,00,000
(D) Rs. 5.00,000

134, When was the First Industrial Policy

resolution taken?
. (A) 1956
(B) 1947
{C) 1948
- (D) 1951
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131, SEtss Srania 2011 A
(] (e e mﬁﬁaﬁmﬁ-ﬁm’

(A) 588
(B) #rmi
(C) #efEie|
(D) Wi & e

132, SIS SIHAGS %6 WA Wi (P FA
i+ ey

(A)

(B) e

(C) (TG ==

(D) =g cohifEEr oo

133, “feouam waarey fewE’ 2SmEa ade
Terrere! i e B et S (s S
(A) 50,000 G
(B) 1,00,000 G
(€) 2.00,000 G
(D) 5,00,000 B=

134. ol 9 uw MEaiios o oEd I W
(A) 1956 it
(B) 1947 7=
(C) 1948 A
(D) 1951 A=




B CSovermment o s passidt B At 1
mﬂmhmngmwm}’w’

(A) 1990

(B) 1993

(C) 1995

(D) 2002

137. Mansab means
{A) A rank or office
(B) A military general
(C) A grant of revenue free land
(D) A religious text

138. Judges of Supreme Court retire at the ageof
{A) 60 years
(B) 62 years
(C) 65 years
(D) 70 vears

139. Kumnnl‘l'{udapa Canal is taken off from
the following river :

{A) Cauver:,r
(B) Krishna
(C) Tapt

A T |
(A) 1990
(B) 1993 7M7e]
(C) 1995 #f
(D) 2002 #A

137, wwraa wel 2o
(A) % 5 o
(B) s
(C) e shmme
(D) g

138. 7ot ot Faramfen s mt
(A) 60 7e77g
(B) 62 2¢a
(C) 65377
(D) 70 %

139, fsfefe @ o 3oz «m fiofs
i F |
(A) wmas
®) P
(C) =i
(D) grea




141, The binary equiv
4625 is

(A) 100:001
(B) 100-110
(C) 100-101
(D) 100011

alent of decimal number

142 Who was involved with the ‘India
Independence League™? ‘
(A) Deshbandhuo Chittaranjan Das
(B} Mahadev Govind Ranade
(C) Ananda Mohan Bose
(1) Rashbihan Bose

143, President of India is elected by
(A) Members of the Parliament,
(B) Members of the State Assemblies.
(C) Directly by the people.
(D) Both the Houses of Parliament along
with the Memhers of the State
Assemblies.

symbol of Mahatma

144. What was the major :
dom struggle?

Gandhi during his non-violent [ree
~ (A) His looking glasses
(B) His charka (spinning wheel)
(C) His walking stick

(D) Hiscap

C-27

M
141, i e 46253 2 (Binary) A
ﬁ' Rl D 0
(A) 100-001 A

(B) 100:110
(C) 100:101
(D) 100011

142, “¥fom TfEremes A9 AK @ ofes
i 7
(A) crag foaage wiH
(B) wEIAT (5w a0E
(C) =i+ (aliE &F
(D) FEfEzEl EF

143, sHrea 2% Fdipe =
(A) Arltros AR & |
(B) aiE] RarTeEEs Hnme bl |
(C) EwEieid Bl 2erwelE |
(D) ST e ] 95 1 RPTel
Iz HAiea w1l |

144, T2 A S S A A
famiy -
(A) &ra o :
(B) ©fF 5=l

() & &

(D) 3 Bt

m : m -i: _:'.-
p Ty ﬁ' )
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146. Shanti Swarup Bhatnagar Prize is awarded
in the field of

(A) Peace
(B) Science and Technology
(C) Medicine

(1) Economics

147. The recently much talked about ‘toolkit’ is
basically

(A) an e-commerce platform for anline

transaciion.
{B) asocial media site meant for he Ickers,

() a digital equivalent of pamphlets and

thiers that helped mobili

lse ||||..|I.I..,"\-|k|'1

(D) an assemblage of sophisticated

electronic gadgets

148, Researchers has di

scoveresd |l’.|.l.||||"|
.JnTJlmli\ afwhich vinis in bats from Mahalualasiar

Cave
(A} Nipuh
(B} Ebola
{C} Covid 10
D) Zika

149. A boat floating in a tank is carrying some
passengers, If the passengers drink water from the
tank, how will it affect the water level of the tank?

(A} It will go down.

(B) It will rise.

(C) It will depend on the atmespheric
pressure.

{D) 1t will remain same.

150, Punarbhava and Atrai are the distributaries
“of the fﬂilﬂmng thrar
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146, #fwsznel ©liasa @ (g (res =, b 2y

(A) *ifg
(B) Tr=mm & =f
(C) fofees
(D) mefifs
147. 5*"‘A_'TTE-T;‘1-‘I'¢-. asHe ‘toolkit’ T 7
(A) TElEa [y s def Temr
gfoas
(R} =g “*’ITH'—TF.‘ T |~'T:'.-':‘:|'f5"f;ﬁ|
(C) TeiEhe apasy o =fE=m Aeetim
HiEE=E]
(1) =08 TFahe FEane SR |
148, siassa wHe=f

WA T e
X : T e e =

Eels
SR G ot
5 ':”:.I-'”-r ‘l"J-i'T#' "T'.'.?"- IR =

‘.'J.'u::'i- ] T

(A) fast
(B} Eram)
() @ifEE 19

()

=
[ 18

149, CFI ST S S onee Hlar= 1l

GRS (T Tl AT I S e

5 gar
(A) S5 TR i
(B) E=itz Baa
(C) A ST Borw by zra
(D) g e |

150. Wﬁwﬁmﬁﬁ‘%%wﬁr
(A) g

(B) fwt
(€) =T




(B) Irfan Habik
(C) Nurul Hasan
(D) Athar Al

152. A pen;luium clock that keeps correct time
on the earth, is taken to moon. It will then run

(A) at correct rate.
(B) 6 times faster,
(C) 6 times faster.
(D) V6 times slower.

153. Article 2] ofthe Indian Constitution ensues
(A) Rightto Religion
(B) Due Process of Law
(C) Right to Life and Personal Liberty
' (D) Procedure established by Law

154, Who wrote ‘Poverty and Unbritish Rule in
(A) Ramesh Chandra Dutt

(BJ Dadabhai Naoroji

(C} A. O, Hume
tp} Amartya Sen

X

c20

151. ﬁtﬁﬁ : ‘-*I"

TeEE e
) i
(B) Zxw aifae
(C) = TRy
(D) =roze wiE

152, sffroms e sy 2 @i g 1
b forg mewt =, v o1l

(A) #faw Aem o |
(B) 6 @9 we 557 |
(C) V6 o % o102 |
(D) V6 & Hirg b |

153, ©di wfRume 21 98 SR 991 aEE .".
(A) 4w s i

(B) wifErea s9mEy e |
(C) BRm & e FEmoE SETm |
(D) wiEw wéa il ow%fs |

154, ‘Poverty and Unbritish RuleinIndia’ efos
ATe] (e

(A) FGPH TE
(B) WHISE TreTarE
(C) @ 8 &%



of Sidho and Kanho are

(B) Sanny .
(C) Ganthal rebellion

(D) Kal rebellion

157. The chopping of an nnfu.nlﬂ makes one cry
hecause of the chemical contaling

{(A) Sulphur

(B) Chlorine

(C) Bromine

(D)) Nitrogen

158, Which oneof the following sequence of the
Himalayan ranges from south 1o north is correct?

(A) Karakoram - Ladakh - Zaskar-
Pir Panjal
(B) Ladakh - Zaskar- Pir Panjal

Karakoram

(C) Zaskar- Pir Panjal
Ladakh

(D} Pir Panjal -
Karakoram

Karakoram -

Zackar - Ladakh -

159, A spring of spring constant £ is cut into two
equal halves. The spring constant of each half is
now

(A) k

(B) k2

(C) 2%

(D) 4k

‘Who 'hld'dbmggned the first Inclian National
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156. B & aterea i (3 TENEA A% Hiewt
(A) pare frme
(B) 7wl farE
(C) HewE e
(D) Gl (e

157, s @b 7 G gl $4E FE9 9900
arfe, Tine 9T
(A) A==
(B) &ifaw
(C) @i
(D) ELE

|58, Wil cura Tara e deumy PR
SR e S (D AOEE

(A) SRS - FA - S - el

(B) FHE - SRR - AEAIgGE - SRR

() T - ARelgE - SR - W

(D) ARG SrHE - Ay - S

159, Py w2 k-9 @2 FRitE 7 g Gt

e, el arar Pet vas oE : i
(A) k [
(B) k2
(C) 2k
(D) 4k

160, (FEELEE A4 FEH ST 2 Ck
(A) Terad wag
(B) =i e



(A) Subamarekha
(BY Dwarkeswar
& Barakar

UM Kangsabati

‘.:., A wvehicle covers half the distance with
wnitaEm spoad vy and the other half with uniform
s o The average speéed of the vehicle is

Wy
PR IS

i G el T
. -

| .

21'|1':

| i LY
i -

#2. What proportion of the Insurance Premium
mavatile for Swasthya- Sathi Scheme is borne by

i Hiaie Government?
(A) 50%
B) 75%
(C) 1005
() None of the above

d in June, 2014 by the Union
of India, the ‘Namami Gange’

. ismucmteduﬂth

vy nﬂﬂ:mwmv:ﬁmﬂ w
518 #f® g

(A) 11;'2,

W +v
Wvs
L)

W Vg

2v v
VT2

(B)

()

(D)

163, = e WA T A
i e Aol AME FASE T2 WAL

(A) 50%

(B) 75%

(C) 100%

() Tt (e s

164 2014 791 S5 26T SIS FAHET
{A} W
(®) 1 4




166. The ratio of the diameters of moon and
earth is nearly
(A) 1:2
(B) 1:
()l
(D) 1:

=

167. Dubbed as the Dakshina Ganga (Ganges of
the South), the largest river of South India ix

{A) the Godavari

(B} the Cauvery

(C) the Penganga

(D} the Mahanadi

168. What was the Carlyle Circular and when
was il issued in colonial India?

(A} Adecreeto prevent political gathering
during the World War |

(B} A regulation to introduce English
education in schools after 1857,

(C) A decree to restrict use of arms by
Indian citizens of colomal India from
1919 onwards.

(D) Adecree to prevent nationalist protests
amongst students in educational
institutions during the Partition of
Bengal.

169. A heavy body and 4 light body have equal
Kinetic ¢nergy. Then

(A} heayy body has greater momentum.
(B) light body has greater momenturn.
(C) both have equal momentum.

(D) both have same angular momentum,

170, Whmh of the following is not a unit of

Cc-32

wiars gafde e

166, 517 €3t~ I S eeie 29
(A) 1:2
(B) 125
(C) 1:4
(D) 1:8

167, e Sranes HwdqEe wHice 99 o wwe
si#l | e @t 2=

(A) oIS w7t

(B) #iraai o)

(C) oo

(D) 2

168, =E(EA Ffema B «ae aa wf AR

(A) @=f% fefe o1 eoe P 7 w '
AETRoT AU e 0 | '
(B) =G ifs 7@ g 1857-2 #ica e
S e 26 w9 |
(C) =6 fGfm a1 1919-99 +7 SfmafEas
CIAUE HEY 41aEE A
(D) a5 ©F am m awsm i
BEASIAE WEE slasdioe
sz (g waaie Trale enl 51 |

169. 9of6 s 9% & w4 TFw TE a2

sifeifis =i | W '

(A) S 7ibe S saEs v |

(B) =¥l aeie Bfte e i |

(C) #iba sas T == |

(D) b7 <% G Sarast apma | | '




l?l 'IPcHindi film “Padman’ released in 2018
- was inspired by the true life story of
(A) Arunachalam Muruganantham
(B) R. Balki

(C) Akshay Kumar

(D) Bindeshwar Pathak

1;‘;_ 2:\:?]10 was the hero of Rampa Rebellion of
{A) Tanguturi Prakasam Pantuly
(B) Tiruppa Kumaran
(C) Puli Thevan
(D) Alluri Sitha Rama Raju

173. In the Constitution of India, ‘Protection of
Life and Personal Liberty’ is guaranteed under
Article No.

(A) 21
(B) 49
(C) 73
(D) 370

174. Dilatometer is used for the measurement of
(A) electrical energy
(B) mechanical encrgy
(C) dimensional change in material
(D) thermal energy

€33

171, 2018 c% 5 2z =rea’
A A e e, Rl
(B) R. Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

172, 701 fagames e on farem (1922-24)
(A) THGA ST G
(B) Tewsl g2
(C) = e
(D) witefa Hiel a4

173, srey AR WP, S @ AT
HIEWET i AfiFe TEE O AR

(A)-21

(B) 49

() 73

(D) 370

174. feAnbE6E (Dilatometer) Tz «if#sie
Lo b [T
(A) wfGe e
(B) i =(fe :
(€) =mites WrEse ARy
(D) w19 (e
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176, Should senicrity be the only criterion for | 176, #FTefZ (Seniority) ¥ “AfeR ST
the promaotion? Zay BHu}
Argument: 1. Noi It would be an injustice to g 1A 3 51 Sl afe sfRer
il AR e i S
' and s 4 i
Prl‘rmmiin than senior G A Lﬂiﬂ‘#@ﬁ{@i
counterpart. 2. %7 ¢ WA 24 ForeE «rs
2. Yes: Otherwise senior employees LS AT #IE |
may feel humiliated. 1.5 8 Ha =i e e 3 el '
3. Yes: Een'mrl cmp!la:-jsc-c.; are T::.‘: EEAZ G2 2R el
experienced and must be
rcutnle.:l for the same. (A) 1" 7o I T | .
(A) Only “17 15 strong. (B) (@aw ‘1@ 2" w9 caf e | -
{B) Only *1" and ‘2" are strong; (C) (Fa@ ‘1" 6 ‘3" 7w (AT e |
(C) Only ‘1" and ‘3" are strong. (D) 2= [&% = |
(D) All arguments are strong.
|
177, Exclusive Proposition: Whichis the correct 177, 9% 4l 4, S =i 2| i | |
option? ATAE ATHY (D AL

I a person is rich; hi has lot of inflaence.
S St = (A) ST W 2o e R o aa |
(&) Alok has o lot of influence; so he is

fich: (B) (T ST 11w o) =1 23 L Ol WmE

. ; 2 =T e i |
(B} Ifapersonisnolnch he does not have T TEE =1

a lot of influence. (C) T9F ) 498 ©F OF TS A6g !
(C) Tapas is rich and so he has a lot of Hie |
mnfluence. (D) wiag FifEe oo gers «ira A

(D) Poor people cannot have influence.

178. Given set (7, 77, 140) then follows 178. (7, 77, 140)— <% 1 ==mas ¥ Ao
(A) (9, 88, 180) Sl Twal® Fidiva o :
(B) (6,66, 120) (A) (9, 88, 180)
(C) (8,80, 166) (B) (6.6, 120)
| (1) (4, 10, 160) (C) (8, 80, 166)

(D) (4, 10, 160)

=y (A) 24 b
(B) 20
{©) 21
D) 22




(A) Sunda}-
(B) Thursday
(C) Friday
(D) Saturday

D:} ?ilu.“;f_m tusive Proposition: Which is the correct
Many smokers get cancer.
(A) Cancer patients are smokers,
(B) Most smokers Eet cancer.
(C) Smoking may lead to cancer.
(D) Smoking is injurious to health.

182. ‘School’ is related to ‘Student’ in the same
way as "Hospital® is related 1o _

(A) Medicine

(B) Nurse

() Doctor

(1)) Patent

183. A building which is 64 feel high cast a
shadow of length 96 feet. The height of telephone
tower, which cast a shadow of length 180 feet,
under similar condition is

(A) 80 feet
(B) 100 feet
(C) 120 feet
(D) 90 feet

184, Atrainis 150 mlong. [tis running ataspeed

=l running at 11 kmph in the
41 kmph, A man is [nwhat time will it pass

Wﬂﬂﬂ#mﬂm

180,

(A) afaara
(B) Fz=feam
(C) smam
(D) =itz

181, e quoimEivsa 2l 21 |
ST 5D (D A
(A) Ftemta Gt qasi |
(B) caferetsl qusiiices St 22|
(C) gmeim TmHEs e i Wes # |
(D) o =z o wieee |

182. *School ¥/ ‘Student’ =3, =7 ‘Hospital* Hi
ey

{A) Medicine

(B) Nurse

() Doctor

(13) Patient

183, 64 %5 T «3h affey e ol 96 35 | &
42% = 18035 Gt Gl bleuTas el (A
T LAY

(A) ROFG
(B) 100 75
(C) 120%5
(D) 90 ¥5

184, <afb e el 150 m) afbe aferad
41 kmph | @& & 11 kmph sfecas! s Gabe
fier (o | s A G @ e s
Lis k]
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185, What is the missing number?
1,2, 10, 37,101,
(A) 320
(B) 226
(C) 206
(D) 402

186. 480 students out of 1500 are enrolled in
NCC, What percentage of students are not there in
NCC?

(A} 0%
(B) 6GR%
(C) 73%
() 64%

187, Maohan takes 6 hourstodoajob. Lalu takes
10 hours to do the same job, How long should it
take if Mohan and Laltu work together the same
job?

|
(A) 1= hrs.

A
3— hr
(B i hirs:

]
() :i hirs.

|
e .
() i hirs,

188. Choose the word in the option that is farthest
in meaning to the capitalised word,
WINSOME
(A) INSIPID
(B) UNATTRACTIVE
(€) PREJUDICE
(D) OPPOSITION

189. waﬁum X pi;nnt and walked
mﬁ; Kms and again tamed lefi and walked

traight 7 mhmm;mmm'
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185, 7' ofre ¥ta (17 A5 WA
1,2;10; 37,101, 52
(A) 320
(B) 226
(C) 206
(D) 402

186. 1500217 704 43067 NCCLS AN AUge
AR | FE A T AT Far

(A) 70%

(B) 68%

©) 73%

(D) 64%

187. =iEa G0 15 FA0E 6 9Bl R ), WD
T 10 91 |22 A9y TG TA0S T8 WY A ¢

(A) ]-,l' R}

3
3'_
(B) P 00|

: |
2_ .
£l 3 Cah

|
;s
(D) 4%3‘%1

188. "WINSOME' *r=ib2 %4571 g8 wef 9am
W T G =G e

(A) INSIPID

(B) UNATTRACTIVE
(C) PREJUDICE

(D) OPPOSITION

189, @rfm ﬂqmmww |

Skm C’fﬂﬂl mmﬁammg,
':"Emmﬁﬂ‘{:im ?%Mir
fmﬂ*mﬁwuﬁu

R 'y
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90. s_lfbuuld the number of holidays of
1 employees be reduced?

| mnt L. Yes: Our government employees

are having the maximum
number of holidays among
countries of the world.

It is a sign of British legacy
which should be carried
forward,

It will speed up work and all
pending jobs can be
completed well in time,

2. Yes:

3. Yes:

4. No: Employees must be given
ample spare time to spend
with family.

{(A) Only “1" and “3" are strong.
(B) Only ‘17, “2" and '3 are strong.

(C) Only 2 is strong,
(D) None is strong.

191. Today is Monday, after 61 days it will be
(A) Wednesday

(B) Saturday

(C) Tuesday

(D) Thursday

a wall, The top of
hmght of 270 cm

A Jadder is kept against 2
' is 54 cm_:

: wall ata
es the of the ladder

ﬁmmmmm1
2.4 s b b Temfares @b

o2 =) 2% <A Meu == |
3, 411 2 aft wicer ofe AR SR

<|1 wiEetE A o AL
4,71 ¢ #fEaiag ANy AUR FEE
oIt T AR <
mez e

(A) =1 '10 8 *3 caf e | .
(B) &a ‘1%, ‘2" @& ‘3" (AP S |
(C) ===t 12" cafe s |
(D) (A3 2] =% |

191, = i =i 61 fm #ia 9 A9 2
(A) 4919
(B) i+
(C) SIS

(D) qrifears
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Pointin ath said

I inting to a gentleman, Somena :

uﬂzfun]y brother is the father of my daughter’s
'f;tﬁ:.t."i'HﬂW-iS the gentleman related to Somenath?

(A) Brother-in-Lay
(B} Uncle
(C) Grandfather

| (D) Father

194. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours,
They worked together for 5 hours, The remaining
work was completed by Lucy in 2 hrs, If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300
(B) Rs. 250
(C) Rs. 200
() Rs. 400

195. Exclusive Proposition: Which is the correct
_option?

All students are not genius.

(A} Every student is not genius.
(B) Many students are not genius,
(€) Many students are genius,
(D) Every non-student is a genius.

196. DIJMA' is related to ‘Russia’ in the SiAme
way as "ECCLESIA' is related to
(A) Bhutan

| A

197. (8,3, 2)— <& GO0 e
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193, 9% SHEARE HEE cmﬂmim,_ ‘ég
el BT% 2 STIE GRS AR T4 | SEEeby

HTel (IS T T
(A) e
(B)
(C) fosrrz
(D)

194, =rere 10 9951 100 “ier 92 B[ e
TATE AT WA 998 TEH |5 I FE0E #id |5
eI 5 w1 e e | Al el 9 2 9%
el 9 | w1 & SEGE T 4W @b 2,400 B

s, Wz w5 9 Ana _ '

(A} 300 B |

(B) 250 5/ '

(C) 200 Gra |

(D) 400 B '

195, 34 /52 ofestat 7|
SUHCE 57 @D A
(A) are=h vy Afesram a5
(B) =% giaE sfese o)
(C) =itwe w2 =Afostan)
(D) 1 BlE 1 wiwe anenss sfeam |

196. ‘DUMA’ 4 ‘Russia’ %3, %3 ‘ECCLESIA®

(A) Bhutan
(B) Afpanistan
(C) Greece
(D) Germany




. 198, .Puinlting towards a girl in the picture,
- Meghna said, “She is mother of ‘Thuma’, whose
~ father is my son”, How is

| ‘ "Meghna’ related to the
girl in the picture?
(A) Mother
(B) Aunt
(C) Cousin
(1) Grandmother

199, What is the missing number?
= AR L TR
(A) 3
(B) 12
(C) 5
(D) 1

200. The ratio of 6 inch to 4 feet will be
(A) L:6
By 1:4
i) 352
(D) 1:8

C-39

198, ¥fs af5 Gracs i Grast
e A At 2@ S e | e o
(I ] E

(A) 0

(B) =i

(C) YSLLS! @A
(D) S

199, 7" fofers Hiet (F 747 2
32, 19, B, s
(A) 3
(B) 12
(C) 5
(D) 1

200, 6 %f 6 4 FH THAS FOF
(A} 1:

B) 1:

G R B

(D) 1




